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2R0Be yd» swegIDS. (15)

(o cre 40)

19 5BHG BCH 66ISH camo

1.1 283y =y+14

2y =12
y =6
c®OG (2)
12 A =P(l + 1)
P =500 000 r=0.12 n=2
A =500 000X1.12 2
A =627 200 cFDIs (3)
1.3 TC =6x>—4x + 500
comow (1)
1.4 c¢camoe (2)
1.5 comow (3)
1.6 TR = TC
30x = 10x + 2400
20 = 2400
X = 120
oo (2)
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1.7 2016 &bz o 0@ = (180+72+200) X 100

©®00 &R cbawes (150+60+125)
(Simple aggregate
price index) =452 X 100
335
=134.93
oo (2)
1.8 x[1 - (1+r)-n] x=1000, n=3, r=0.12
A = Dess | ©320m@ | 0008 PLBI
r NWDB| OB
1000[1 —1.1273] Clok) 1 1,000 0.893 893
A= 2 [1,000 | 0797 | 797
0.12
1,000 0.712 712
A = Rs. 2 402 2,402
cmoe (3)
1.9 @wsmsa (X) = 11+12+16 = 39/3
3 comoE (2)
=13
21
1.10 «=®o» guo®xmae = \/{ 221 - 132}
(Standard Deviation) 3
=2.16
oG (4)
1.11 @y/ere »add »e@mmdedn Jeo® w®®nidmo=(.2778 or %
1.12 @y/aic me@»mden spicmewn Se® eo®widmd = 0.5 or —

180

1.13 @y/a1c0 omeds’ 80m 0dds S8e® w@®idmd = 0.5556 or%

1.14 /e 08580 De@wd1edn D5jes’ »O, O® etdmnI @Ie®

eds B8e® ®»iBm0d =0.6250 or %

1.15 ®@y/ae dDmmenn De® w®midmd =(40/180)x 0.8 + (50/180)x 0.6 + (90/180)x 0.5
=0.5944 or 107 /180
(@0 ce 40)

A eon0eed gdeInd.
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2R0be y@» HHTS. (04)
(92 cae 40)

2 D ZIGHHG BEW) 66ISH MO

(@ R =pxq
R(x) =(66-X) (X)

R(x) =66x-x> (Cre 03)
(b) co» Bow
P(x) = R(x) - C(x)
P(x) = (-x% + 66x) - (2x> + 18x + 500)
Px) = 66x - x* - 2x? - 18x - 500
Px) = -3x* + 48x - 500
(cwe 03)

(c)
R(x) =-x>+66x

MR = d_R
dx
MR = -2x+66
Cx) = 2X*+18X+500

MC =4X+18

G cul® »o» ®00e®E

MR = MC
-2Xx + 66 = 4X+ 18
6X =48
X =8
G cu8® DI ERI® 8®rgwms = S 08 (e 04)
(@ cre 10)
OES OGS
co Bos »idmewns’ = dp / dx = 0
0 = d(-3x2 + 48x - 500)
dx
0 = -6x +48 -0
6x = 48
X = 8
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poqo

pP1qo

p1q1

poq1

105X40=4200

85X40=3400

85X70=5950

105X70=7350

140X65=9100

160X65=10400

160X35=5600

140X35=4900

250X20=5000

200X20=4000

200X45=9000

250X45=11250

70X50=3500 60X50=3000 | 60X75=4500 70X75=5250
21800 20800 25050 28750
(a)
cEdBubided 8¢ cbama (LPl/o) = M x 100
> (Po*qy)
¥ 20,800 <100
21,800
— (1)
95.41% (Cag 05)
b)
weded 8¢ omw  (PP,) = MX]OO
Z (Poxq,)
_ 25,050 <100
28,750
(@o cre 10)
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(a) y
A

100

90 ®
°
80
°
70
°
60 e ®
50
°
40
°
30 L
20 | @
10
0 » X
0 5 10 15 20 25
(Cme 04)
(b)
r = nYy XY-YXX.>Y

VI X - EX2) (T Y- (X))

r = 10 X 6,981 — 101 X 563

/(10 X 1385 -1012) (10 X 36521 - 563° )

= 69,810 — 56,863
/(13,850 - 10,201) (365,210 - 316,969)

12,947

/3,649 x 48,241

= 0.9758 (caa 09

() ©0® Bocsws’ ecm and A ©» o YAC IBe PSS O8.
(cme 02)
@ cre 10)
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5 9% gmuc 6C®) 66I&D cmO

(a) b = nYXY-YX.>Y X = 2x/n
mY X - (XX)?) = 55/10
= 5.5
b = 10 X 4,185 —55 X 685
(10 X 385 -55) y = Xy/n
= 685/ 10
b = 41,850 - 37,675 = 68.5
3,850 — 3,025
b = 4,175
825
b = 5.0606
= y-bx
= 68.5 - 5.0606 X 5.5
= 68.5 -27.83
= 40.6667
B ebane y=a+bx .
y = 40.67 + 5.06x (cae 06)
(b)
Desd ge¢G o I® D00® e 107 Do avws
0 (200,000) 1 (200,000)
1 65,000 0.909 59,085
2 65,000 0.826 53,690
3 65,000 0.751 48,815
4 65,000 0.683 44,395
QREQ DI gue = + 5,985
(Cwe 04)
(@@ cne 10)
B 6068 gderxnd.
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aBDbe gdmes.
(@2 cre 20)

6 O gHNG BCH) 66IED cHMO

(A)

%z‘s)rra 088w (©)

1 30
60
120
240
480
930

D[ B~ W DN

9808 wo» ¢ o e o 930.00

@I

=
Il
W

a=30, r=2,

Sn= a(-1)
(r-1)
Sn=30(2°-1)
2-1)
Sn = 30(32-1)
—
= 30x3l

Sn = 930

o808 @»o» ¢ 9O gee o 930.00
(e 04)
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(B) 2x + 8y =72 ®
4x + 4y =96 @
Ox2  4x+ 16y=144 ®
®-@ 12y =48
y =4

y=4 18 aedamns,

2x+32=72
2x =40
X =20
x =20
y=4
(cae 05)
©) (a)
S = 750,000
r = 0.12/4=10.03
n = 4x5 =20
S = P[(1+r)"-1]
r
750,000 = P[(1+0.03)°-1]
0.03
P = 750,000 x 0.03
(1.03)*° -1
P = 22,500
0.806
= 27,916
2O B3 = o 27,916/-
e G YOI
(e 06)
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BmCEs c¥mde

S =

750,000

DITDOWO B3 =
BE G Y@rena

(©) (b)
S
500,000

500,000

500,000
1.1403

VOB eGEw

AR (R"- 1) Where R =1+ 1
CR-D
AR (R"-1)
R-1)
A (1.03)[(1.03)20 - 1]
0.03

750,000 x 0.03

(1.03) (0.8061)
22,500/ 0.8302
27,101.9

dt. 27,101.90

= x(1+1)"

= x (1 +0.132)"
12

= x (1.011)"

= 438,481.10 <= 9C revidmes

= 500,000 —438,481.10

= 61,518.90
(e 05)
(o cwe 20)
C eomOeess gderncs.
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Notice :

These answers complied and issued by the Education and Training Division of AAT Sri Lanka
constitute part and parcel of study material for AAT students.

These should be understood as Suggested Answers to question set at AAT Examinations and should
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.

The fundamental objective of this publication is to add completeness to its series of study texts,
designed especially for the benefit of those students who are engaged in self-studies. These are
intended to assist them with the exploration of the relevant subject matter and further enhance their

understanding as well as stay relevant in the art of answering questions at examination level.
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